
Four children aged 7 through 10 got their Easter egg with a toy in it. Which kid got a puzzle?

1. Ema is two years older than Linda.

2. Linda is either the 9-year-old child or the child who got a

dinosaur.

3. The child that got the gold egg is older than the child that

received a car.

4. The child who got the gold egg is one year younger than

the child who got the blue egg.

5. Matthew didn't get a bouncing ball.

6. The child that got a bouncing ball is either the one who got

the blue egg or the one who got the red egg.

7. Of the child who got the silver egg and the child who got

the gold egg, one got a dinosaur and the other is 10 years old.
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Four children aged 7 through 10 got their Easter egg with a toy in it. Which kid got a puzzle?

1. Ema is two years older than Linda.

2. Linda is either the 9-year-old child or the child who got a

dinosaur.

3. The child that got the gold egg is older than the child that

received a car.

4. The child who got the gold egg is one year younger than

the child who got the blue egg.

5. Matthew didn't get a bouncing ball.

6. The child that got a bouncing ball is either the one who got

the blue egg or the one who got the red egg.

7. Of the child who got the silver egg and the child who got

the gold egg, one got a dinosaur and the other is 10 years old.
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